[E3Z S THEIRiER
— - TISRIBiE.Za0R
1.

€y P(x,y) P(X,y) P(X,y)
P(x,y)——2>P(X,y)=>P(x+0,y) X=x+0,y=Yy
P(X,Y) e »P(X,y)= P"(% X,y) X :%x',y" =y
X :%x' :%(x+6?):>x:ax"—6?, y=y=y =y=snx y=sin(ax-6)
@ P(x,y) P(X,y) P(X,Y)
P(x,Y) e P Y)SPOLY) X=Xy =y
P'(x',y')—>% P(x,y)= P"(x'+%,y') X :x'+'9a,y" =y
x":%+‘9a:>x:ax"—¢9, y=y=y = y=sinx y=sin(ax-0)
2.
(€)) P(x,y) P(X,Y) P(X,y)
P(x,y) ———L—P(X,y)=>P(x8y) X=xYy =4y
P(X,y)— 5P (X,y)=P(X,y+d) X=X,y =y+d
y =y +d=py+d=y=sinx y=fAsinx+d
@ P(x,y) P(X,y) P(X,y)
P(X, y)—%—>P'(x',y'):> P (X, y+%) X=XY = y+%
P(X,y)——L2 5P (X,y)=>P(X,8y) X=X,y =8y
Y =By = fly+ V) = y=sinx y=psinx+d
3.

y=sin(ax+80) = sin(a(x+£))
o

y=pgsin(ax+60)+d=g(sin(ax+86) +%)
13 =siny HIERFZBT IR ERE ¢

|~

R |k



y=asin(fx+6)+d=asn(f(x+ %) +d = a(sn(x+0)+9/)
(1) 2 (3)
(D y=asin(fx+6)+d

$By =sinx@Hz —RLAFBBO v _gn(x+6) 6.0 mr  0<0 mm

R A LS

B>0 y=sin(f#x+0) B> 1 mem:  |f< 1 wE

zltiﬁTﬁPfﬁéiT%

step2. K y=si n(‘ﬂ‘x+9) y:s n(_‘ﬂ‘ X+9):Si n(ﬂx-l-g)
p <0
‘ - NP PP | |
IR yosn(xet) AL, y=sin(-|f|x+6)=sin(x+6)
a >0 REREHME, y-q SN(fX+0) o> 18 |al< 1 4w
|| SEERAE i) SHIEIRE g Sin( fx+0)=a-Sin(fx+0)
yo_sin(pxs ) B EIPHEALa y=—{aSin( fx6)=a-Sin( fx+0)

BB ;
stepd. BB EF43d a-SN(Bx+60)+d d-0 mr; d<0 mF;

) y:asin(ﬂ(x+%))+d

[ SryRp

B>0 y=sin(fAx) B> 1 B |p< 1 &

JI<5F1$$E¢%.L1—E~

D :Sin =] 23 epl. . 5 e : H
;{%y )(.}f tepl y:sm(\ﬂ\x) HyRTEFHIRE yzsn(_‘ﬂ‘x):gn(ﬂx)

p<0
HysFiRE

JItzFTﬂ‘E%i%

y=sin(-| 5|x)=sin(5x)

y=sin(-x)

0
step2. Ik FFF3— 6
YN yZSn(ﬂ(X-FE)) %>O R %<0 s

step3. /Bl L

step4. .k



— (S d
(3) y=a(En(px+6)+4/)
ﬂ%y:gnﬁfstepl.ﬁl,h
step2./8l.E

steps.ﬁfa@ﬂﬁﬁ»g ] d ¢ d
a,Sn(fx+0)+— — >0 mr <0 AT
a ¢ “

o >0 BEEBACE , y o (Sin(fx+0)+D)=a-sin(fx+6)+d o> 1eE: o< 1 B8

stepd. B (P44 a8 y:\a\-(sin(/ax+9)+9)y:—\a\-(sin(ﬂx+0)+g):a-sin(,6’x+0)+d
a<0 o

MRS o)) B PHAaltE y:—\a\(sin(ﬂx+(9)+%):a-sin(/?x+0)+d



